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DJO00O0000000000000d. #include "graphics.h
#include "stdlib.h" #include "dos.h" #include "bios.h" #define LEFT
0x4b00 #define RIGHT 0x4d00 #define DOWN 0x5000 #define UP
0x4800 #define ESC 0x011b #define ENTER 0x1c0d /*200 O ,100 O
O0000,30 0,40 O */ int
a[15][20]1={2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,
2,1,1,0,00,1,01,00,0,1,1,1,1,1,,0,2,
2,12,22112,11,0,0,0,1,1,4,1,1,0,2,
2,1,1,0,2,1,1,2,0,1,1,2,2,2,2,2,0,0,0,2,
2410211,211,101,1,1,1,0,1,1,2,
2,12121121,3,2,2,1,11,1,2,2,1,2,
2121211111,1,1,1,00,0,1,1,1,2,
2,12101111,2,101,2,2,2,1,1,1,2,
2,101012112,101,2,1,1,4,1,1,2,
2,102012112101,2,1,1,1,1,1,2,
2,10211211,2,1,0,2,2,1,0,0,0,1,2,



21121121121,0,21,1,2,2,1,1,2,
212212211110,14,1,2,0,0,1,2,
2,1,0,0,0,0,04,0,1,1,0,1,1,1,1,0,0,1,2,
2,22222222272.2,2.2.2.2,2,2.22}/*00 0 00 00O */ strUCt play
AO00000000*{intx.inty.}.struct play you,them[5].
intsum=0./*0 0 00 0000,005000000%*Iint
xx[5][2]./*0 0 00O OO 0O OO O O * int false=0. void
TimeDelay(unsigned long microsec) /U 0O O 0O OO O OO */{
union REGS r. r.h.ah=0x86. r.x.cx=microsecgt.16. r.x.dx=microsec.
INt86(0x15,amp.r). } drawblackdou(int x,inty)/*J 0O O O 0O O */
begain()/*0 OO O OO */{int1,). sleep(1). for(i=0.11t.20.) )
if(a[i][j]==2)/*0 0O O O */ { setfillstyle(SOLID_FILL,BLUE).
bar(100 j*20-10,100 i*20 10,100 j*20 10,100 i*20-10). } else
if(afi]j]==3)/*0 O O O */ { setcolor(RED). circle(100 j*20,100
1*20,9). } else if(a[i][j]==4)/*10 O O O */ { setcolor(GREEN).
circle(100 j*20,1001*20,9). } else if(a[i][j]==0)/*0 U O O */ {
setcolor(YELLOW). circle(100 j*20,100 i*20,3). }
youx=b.youy=9./*0 0000 oo *
them[0].x=2.them[0].y=15. them[1].x=4.them[1].y=1.
them[2].x=8.them[2].y=16. them[3].x=12.them[3].y=13.
them[4].x=13.them[4].y=7. } void movethem(struct play *them)/*
O 000000*{inti,loop. randomize().
for(i=0.lamp.amp.amp.amp.amp.amp.amp.amp.&amp.xx[i][1]==
) goto loop. xx[1][1]=xx[1][0]. if(xx[i][0]==1)/*00 O OO J */
{them[i].x--. if(a[them[i].x][them[i].y]==2)/*0 0 0 O O O O O
Do000o0ooodooodod* {them[i].x .goto loop.} } else




if(xx[1][0]==2) {them[i].x . if(a[them[i].x][them[i].y]==2)
{them[i].x--.goto loop.} } else if(xx[1][0]==3) {them[i].y .
if(a[them[i].x][them[i].y]==2) {them[i].y--.goto loop.} } else
If(xx[1][0]==4) {them[i].y--. if(a[them[i].x][them[i].y]==2)
{them[i].y .gotoloop.} }}}}100Test U OO0 DO OO OO OOO
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